SUSHEEL SIR MATHS

$$V = \beta i n^{-1} \left(2x \sqrt{1-x^2} \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \sqrt{1-\beta n \theta} \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \sqrt{1-\beta n \theta} \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$V = \beta i n^{-1} \left(2 \beta i n \theta \cos \theta \right)$$

$$x^{2} (1+y)^{2} = y^{2} (1+x)$$

$$x^{2} (1+y)^{2} = y^{2} (1+x)$$

$$x^{2} + x^{2}y - y^{2} - y^{2}x = 0$$

$$(x-y)(x+y) + xy(x-y) = 0$$

$$(x-y) \left(x+y\right) + xy(x-y) = 0$$

$$x = y, x+y+xy = 0$$

$$x = y$$

$$y = -\frac{x}{14\pi} - 0$$

$$\frac{dy}{dx} = -\left[\frac{(1+\pi)\frac{d}{dx}x - x\frac{d}{dx}(1+x)}{(1+x)^2}\right]$$

$$\frac{dy}{dx} = -\left[\frac{(1+x)x_1 - x_1x_1(0+1)}{(1+x)^2}\right]$$

$$\frac{dy}{dx} = -\left[\frac{(1+x)x_1 - x_1x_1(0+1)}{(1+x)^2}\right]$$

$$\frac{dy}{dx} = -\left[\frac{(1+x)x_1}{(1+x)^2}\right]$$

$$\frac{dy}{dx} = -\left[\frac{(1+x)x_1}{(1+x)^2}\right]$$

SUSHEEL SIR MATHS